1/17/2020 Civil

Disclaimer: Displayed questions are not as per the sequence in which candidate has actually attempted the questions
in question paper.

Post Name: Junior Trainee - Civil
SECTION 1 - GENERAL KNOWLEDGE

Question No.1 1.00

The financial year of RBI ends in
RBI cing); €598 Roddyso &5° B0V

(A) O September
0086
e
(B) O December
Goeb

(C) O February
De50

(D) O June
RS

Question No.2 1.00

Which of the following metals is the best conductor of heat?
god S’HOS’ & ey TP AO?

(A) O Mercury
8GR0

(B) O Aluminium
esw;ibf()oti)o

(C) O Silver
Do

(D) O Iron
QA

Question No.3 1.00

Which of the following animals is called the Ship of the Desert?
806 ToS” O 20B0DH ITE0 £t 9D DLV E?

(A) O Donkey
e

(B) O Camel
2,083

(C) O Horse
Ogo

(D) O Lion
oA

Question No.4 1.00

The Relief rainfall is also known as
D30 DT B0 (69D ToDFES) T &3 LeJRES
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(A) O Orographic Rainfall
HE(HAL SgJeso

(B) O Convectional Rainfall
R095° bga"éo

(C) O Cyclonic Rainfall
SETS HGJo

(D) O Frontal Rainfall
DoreS égb"éo

Question No.5 1.00

What is the expansion of the acronym 'DRDO' (a government agency)?
'DRDO’ (2,8 9308 00R) @D £ drards DYde Je?

(A) O Defence Reconstruction and Developed Organisation
&2)53 655}8&‘.3‘5 o0& E,éog) ug@é@%

(B) O Defence Revamped and Distribution System
&;)53 60’053 o0& &?&o)wzg:.\.s ‘?o;go

(C) O Defence Resource and Development Organisation
EDRy 8U°6y ol EHVD0L EIBND

(D) O Defence Research and Development Organisation
GOy 86y w0l EIVDHI0S GIBND

Question No.6 1.00

Recently, who has been re-appointed as the Chairman of National Anti-profiteering Authority?
2BHY 57006 SNHS ASrots-FHBA TOS BCLIT A0H JEHIBITIO JHEH?

(A) O Bharadwaaj
SO

(B) O Badri Narain Sharma
@@ 13D ¥6),

(C) O Ashok Kumar
95’8 A6

(D) O Vijay lal
D203 ereS

Question No.7 1.00

The Revamped Public Distribution System (RPDS) was introduced in
Q)éd&sb?gsma D Do S5% (RPDS) 2 RoDSBYBoeS” HDFDYIED
(A) O 1992

1992

B) O 1991
1991

() O 1993
1993

(D) O 1994
1994
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Question No.8

Who said the slogan, "Arise! Awake! Stop not till the goal is reached"?
"J8&! DSl ,gvfa ¢S S ¢ S & &é"(ejboé! Q07 doc! (Adogo BBHELH DFNocsSoc) WD
QTTTY NI AH?

(A) O Aristotle
0T OS

(B) O Jawaharlal Nehru
25576 &S DT

(C) O Dayanand Saraswati
CS03PN0E 706‘6352‘3

(D) O Swami Vivekananda
D Ddsed08

1.00

Question No.9

Who founded the Servants of India Society?
R0G0tSy B35 R0A0Ir T JEDFDL HE?

(A) O Gopal Krishna Gokhale
o g1 Fod

(B) O Mahatma Gandhi
Loy, ok

(C) O Subhas Chandra Bose
208 Boges D

(D) O Motilal Nehru
e DT

1.00

Question No.10

The Deodhar Trophy is related to which of the following games/sports?
"B66 57" o0& TS’ D e3e/SE LD 20e20HONIR?

(A) O Cricket
aas

B) O Golf
8“63

(C) O Snooker
;(15"3“55

(D) O Badminton
&GO

1.00

Question No.11

Guru Granth Sahib is a Sacred book of which religion?
HEGE I D Hodo g, DG Fodsin?

(A) O Buddhism
FG0S0

(B) O Jains
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Bd0d0

(C) O Hindus
SPosTrG0

(D) O Sikhism
?osaz, o

Question No.12 1.00

What is the full form of LPG, in controlling vehicular air pollution?
TEPD P03 SRy Dododese’ LPG diog), 338 6500 d08?

(A) O Liquid Pressure Gas
OS(E Db mgd

(B) O Liquidity Petroleum Gas
DERAEINDI RS

(C) O Liquefied Propane Gas
DSPE TS mgD

(D) O Liquefied Petroleum Gas
(P& E oo mgd

Question No.13 1.00

Which of the following boundary lines lies between India and China?
€06 D ROIPEL B PGS 2O PP eS| E0b?

(A) O Radcliffe Line
ovzgf.gia oY)

(B) O Durand Line
ool S

(C) O McMahon Line
EIFD T

(D) O Maginot Line
SH3¢S B

Question No.14 1.00

Yellow revolution is related to the increased production of
D’ BDPGAD (DX0ZY DPH0) VIO B GBS DHOAEVL Vo0BoDDG

(A) O Fibre
b

(B) O Cotton
o]

(C) O Oil seeds
A°d Aoen

D) O Milk
ren

Question No.15 1.00
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Which is the third highest layer of the Earth's atmosphere?
BororErdt0 g Q°ED B DS E?

(A) O Exosphere
I8’y e256cas0

(B) O Mesosphere
(C) O Thermosphere
CIRSNEA

(D) O lonosphere
90300 e8:96£9:300

Question No.16 1.00

Which of the following is not a neighbouring country of India?
800 TS erEBBTIE VOGO B0 G I&?

(A) O Vietnam
Jos) 0

(B) O Nepal
SFS

(C) O China
QLI°

(D) O Bhutan
D

Question No.17 1.00

In finance terms, what is the full form of "GDP"?
eSS Desere0eS” "GDP" £330 630 Q?

(A) O Green Domestic Product
65 E20p8 Tei§
(B) O Gross Domestic Product
5 EDoDE Fes
[>) ()
(C) O Gross Durable Product
TR Crgsens Te§

(D) O Gross Domestic Process
TR E08 D

Question No.18 1.00

Hajo pilgrimage centre is located in which of the following States?
& oirge o $ob O U°§§o€56 €&oh?

(A) O Nagaland
Iereerod

(B) O Mizoram
&’ oro

(C) O Assam
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Q.‘)a‘bo

(D) O Arunachal Pradesh
TS DA%

Question No.19

Who took the additional charge of post of Director General Narcotics Control Bureau to Director
General of Civil Aviation Security?
E0L6 2566 T8 B8y Sotf’S i HDEDS e GOEE 216 9D DIS IDAND VEFHOS eSO

EBVOTP DEBODDHEG DEH?

(A) O Renu Hassan
Be PO

(B) O Rakesh Asthana

o°8Q e:.g"a"

(C) O Anil Agarwal
IS oS

(D) O Raijiv Ghosh
oTED oA

1.00

Question No.20

Recently, who crossed the English Channel successfully on a jet-powered hoverboard for the 1st
time?
ABHY SP00S” FOIOM &e5 DO D6’ AR TG DeoBoBOMP TBHG JDC?

(A) O Sanjiv Sagata
002D DITEr

(B) O Priti Patel
2D DS

(C) O Ushoshi
&

(D) O Franky Zapata
é"oé 2oty

1.00

SECTION 2 - WORKING ENGLISH

Question No.1

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.

(A) O Permision
Permision
(B) O Meaningfull
Meaningfull
(C) O Fictitious
Fictitious
(D) O Buisness
Buisness

1.00

Question No.2

Fill in the blanks with suitable Article from the given alternatives.
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Goa is beautiful State in India
Fill in the blanks with suitable Article from the given alternatives.

Goa is beautiful State in India
(A) O an
an
(B) O the
the
(C)O a
a

(D) O No article
No article

Question No.3

Fill in the blanks with suitable Preposition from the given alternatives.

Our nation is independent 1947
Fill in the blanks with suitable Preposition from the given alternatives.

Our nation is independent 1947
(A) O since
since
(B) O along
along
(C) O through
through
(D) O for

for

1.00

Question No.4

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.

(A) O Restarant
Restarant

(B) O Elegant
Elegant

(C) O Meaningfull
Meaningfull

(D) O Treetment
Treetment

1.00

Question No.5
Fill in the blanks with suitable Preposition from the given alternatives.

My friends are ready attend the party this weekend
Fill in the blanks with suitable Preposition from the given alternatives.

My friends are ready attend the party this weekend
(A) O by
by
B) O to
to
(C) O for
for
(D) O since
since
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Question No.6 1.00

Choose the word which expresses nearly the opposite meaning of the given word " ENSLAVED "
Choose the word which expresses nearly the opposite meaning of the given word " ENSLAVED "
(A) O Suppress

Suppress

(B) O Liberate
Liberate
(C) O Deprive
Deprive
(D) O Enclose
Enclose

Question No.7 1.00

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.
(A) O Loitering

Loitering
(B) O Quanch

Quanch
(C) O Bagage

Bagage
(D) O Langwage

Langwage

Question No.8 1.00

Choose the word which expresses nearly the opposite meaning of the given word " FEUDAL "
Choose the word which expresses nearly the opposite meaning of the given word " FEUDAL "
(A) O Archaic

Archaic
(B) O Old

Oold
(C) O Modern

Modern
(D) O Antique

Antique

Question No.9 1.00

Fill in the blanks with suitable Article from the given alternatives.

India consolidated their lead in ongoing Test cricket series
Fill in the blanks with suitable Article from the given alternatives.

India consolidated their lead in ongoing Test cricket series

A) O a
a
B) O an

an
(C) O No article
No article
(D) O the
the

Question No.10 1.00
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Fill in the blanks with suitable Article from the given alternatives.

Regina gave birth to twins in August
Fill in the blanks with suitable Article from the given alternatives.

Regina gave birth to twins in August
(A) O the
the
B)O a
a
(C) O No article
No article
(D) O an

an

Question No.11 1.00

Choose the word which expresses nearly the opposite meaning of the given word " DILATE "
Choose the word which expresses nearly the opposite meaning of the given word " DILATE "
(A) O Inflate

Inflate
(B) O Enlarge

Enlarge
(C) O Protract

Protract

(D) O Narrow
Narrow

Question No.12 1.00

Choose the word which expresses nearly the opposite meaning of the given word " BUSTLE "
Choose the word which expresses nearly the opposite meaning of the given word " BUSTLE "
(A) O Hustle

Hustle
(B) O Hurry

Hurry
(C) O Dash

Dash
(D) O Delay

Delay

Question No.13 1.00

Choose the word which best expresses the similar meaning of the given word " BATTERED "
Choose the word which best expresses the similar meaning of the given word " BATTERED "
(A) O Assist

Assist
(B) O Praise

Praise
(C) O Adorn

Adorn

(D) O Shatter
Shatter

Question No.14 1.00

Fill in the blanks with suitable Article from the given alternatives.
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| have umbrella in my bag
Fill in the blanks with suitable Article from the given alternatives.

| have umbrella in my bag
(A) O the
the
B) O a
a
(C) O No article
No article
(D) O an

an

Question No.15

Choose the word which best expresses the similar meaning of the given word " LAMPOON "
Choose the word which best expresses the similar meaning of the given word " LAMPOON "
(A) O Support

Support
(B) O Praise

Praise
(C) O Flattery

Flattery
(D) O sSatire

Satire

1.00

Question No.16

Fill in the blanks with suitable Preposition from the given alternatives.

more than 23 million Americans
Fill in the blanks with suitable Preposition from the given alternatives.

more than 23 million Americans
(A) O for
for
(B) O of
of
(C) O with
with
(D) O from
from

There are approximately 80 different types autoimmune diseases and they affect

There are approximately 80 different types autoimmune diseases and they affect

1.00

Question No.17

Choose the word which best expresses the similar meaning of the given word " AFFLUENT "
Choose the word which best expresses the similar meaning of the given word " AFFLUENT "
(A) O Destitute

Destitute
(B) O Indigent

Indigent
(C) O Penniless

Penniless

(D) O Abundant
Abundant

1.00

Question No.18
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Choose the word which best expresses the similar meaning of the given word " EMBRACE "
Choose the word which best expresses the similar meaning of the given word " EMBRACE "

(A) O Distrust
Distrust

B) O Lock
Lock
(C) O Give
Give
(D) O Free
Free

Question No.19

(A) O Soothe
Soothe

(B) O Incite
Incite

(C) O Frighten
Frighten

(D) O Assure
Assure

Choose the word which best expresses the similar meaning of the given word " INTIMIDATE "
Choose the word which best expresses the similar meaning of the given word " INTIMIDATE "

1.00

Question No.20

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.
(A) O Prodection

Prodection

(B) O Invention
Invention

(C) O Satisfacttion
Satisfacttion

(D) O Breething
Breething

1.00

SECTION 3 - GENERAL APTITUDE

Question No.1

If January 1, 2056 is a Sunday, January 1, 2060 falls on which day of the week?
2350 1, 2056 es&T G0 H 2950 1, 2060 r60eS” D Ferd HX00d?

(A) O Saturday
3 G0

(B) O Friday
BogoeGo

(C) O Monday
D060

(D) O Sunday
[LTaYerlele

1.00

Question No.2
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Frog : Tadpole :: Donkey : ??
200 BSS° 5ot T°O) 0TV WV :::é’)asos‘ o) g8 g"z‘u‘b‘l 200308

Frog: Tadpole :: Donkey : ??
(A) O Fledgling
Fledgling
(B) O Spat
Spat
(C) O Mule
Mule
(D) O Bunny
Bunny

Question No.3 1.00

Karthik travels first 63 km of the journey at 63 kmph and the remaining 63 km at 126 kmph. Find
the average speed of the entire journey(in kmph).
B HOIP0e5°D D 63 km &0 588 63 kmph Beio& a7, AdS 63 km & 126 kmph Btio& &

QOIPEIF . oo POSPEs0 ALY, Vit S (kmph &°) 20FDod.
(A) O 80
80
B)O 78
78
() O 84
84
(D) O 82
82

Question No.4 1.00

Pointing to a photograph of a girl, a boy said " She is the sister of son of daughter of my only
brother". How is the boy's brother related to the girl?

28 e TR0 20D 208 e R0 T IFE FBHE LAFG HITAAS T0” 0D DI, &3
£re0 VBB, €3 LS DADTED?

(A) O Grand daughter
AST D

(B) O Uncle
90L& (HI°O0K/e3°eT /D)

(C) O Father
Sogd,

(D) O Grand father
TS0y

Question No.5 1.00

Find the value of a2-b?, if (at+b) =76 and (a-b) = 8.
(a+b) = 76 S060kw (a-b) = 8 e90nd a2-b? Jewdd ST Dol
(A) O 608
608
(B) O 612
612
() O 610
610
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(D) O 614
614

Question No.6

Jimmy walked 5m East and turns towards West and walked another 5m. He then walked another
5m towards right. How far and in which direction is he from the starting point?
20}, BPEy PV 5 M IAED D00 DD AOA L8 5M HATPCD. €3 ST S HADIHE 2 5M

AT, OB A FB02 FN0 M0l Jodh GG O OIS’ &) ?

(A) O 10m, South
10m, &&ee0

(B) O 10m, North
10m, &80

(C) O 5m, North
5m, eddo

(D) O 5m, South
5m, 3830

1.00

Question No.7

If in the word COMFORTABLE, all the consonants are replaced by the previous letter in the
alphabet and all the vowels are replaced by the next letter then all the letters are arranged
alphabetically, which letter will be fourth from the left end?

COMFORTABLE @93 ¢30¢5°, $37¢000) 8 @95635706° T3 3000650%) 09560 &5 &00050

es:b.)‘)e).i)&oéﬁb 98 320,0e5° o8 ST €0) 08508 d SPEOYBER e HIEy BT SN $¢3065°D
VLTV BVEEATV A0S VBB ©0ceS et DO &od YD WEGo I?

(A) O

P
P
M
M
L
L
E
E

1.00

Question No.8

The average of 4 numbers is 52 and the 15t number is 1/3™ of the sum of the remaining numbers.
What will be the first number?
4 Domge Dt 52. oS’ 15 Doz WA Dogyw B0 1/35 Hodkd DeHX EBA €od. &8 2GS

Qo] D0E3?
(A) O 54
54
B) O 51
51
(C) O 52
52
D) O 53
53

1.00

Question No.9
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Find the next number in the series.

429, 468, 442, 481, 455, ?

33" STP(B Doy EXF Dol

429, 468, 442, 481, 455, ?

(A) O 458
458

(B) O 494
494

() O 416
416
(D) O 481
481

Question No.10 1.00

In a certain code language, if BADLY is coded as CDFAN, then how is FORTY coded in that
language?
2523 8& 23005, BADLY e9:56 CDFAN ™ €& S090e38, @98 23S’ FORTY 936 der §&

B00eEIH0H?
(A) O HQTVA

HQTVA

(8) O QHTAV
QHTAV

() O BWURI
BWUR]

(D) O ULIGB
ULIGB

Question No.11 1.00

A is the husband of B who is the daughter of C. D is the daughter of E whose wife is C. How is A's
son related to D's son?
C 578 @@od B £ A 3¢. C & a,3°65r7° go E £ D £50°8. @Q)Dm D £870a8 A 086

DT E>?

(A) O Cousin
g29

(B) O Nephew
200 / S0 O

(C) O Brother
D30

(D) O Son
§o%H

Question No.12 1.00

Choose the alternative which is an odd word/number/letter pair out of the given alternatives.
PN DINSO ok DD DOB0/Dog/edtro 280 $A 6) &)x‘,’)‘)s"fo‘l JotoEod.

(A) O MP
MP

(B) O sw
SW

(C)O VY
VY
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D)O QT
QT

Question No.13 1.00

Find the value of X, if 25% of X + 40% of 165 = 132
X &5° 25% + 165 €5° 40% = 132 90083 X DendHdd S0 &0,

(A) O 264
264
(B) O 268
268
(C) O 266
266
(D) O 270
270

Question No.14 1.00

Find the value of (a-b), given that a2+b? = 1105 and ab = 372.
a2+b? = 1105 208050 ab = 372 eond (a-b) e EFHod.
(A) O 23

23
B) O 17

17
() O 19

19

(D) O 21
21

Question No.15 1.00

Find the average of 8 numbers 47, 39, 36, 43, 22, 51, 73 and 81.
47, 39, 36, 43, 22, 51, 73 500050 81 3 8 ESCENC RN E0H Do,

(A) O 45
45
B) O 51
51
() O 47
47
(D) O 49
49

Question No.16 1.00

A man buys a CCTV Camera for Rs.1680 and sells it at a loss of 15%. Find the selling price of the
CCTV Camera(in Rs).
28 378 208 CCTV 8200°a0 Rs. 1680 £ £ o 15% dgPA8 Dgowoercd. &8 CCTV 82vo° cdg),

D BB EX0FV0d(Rs.0).
(A) O 1438

1438

(B) O 1408
1408

(C) O 1428
1428

(D) O 1418
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1418

Question No.17 1.00

If in the number 9783724563 first all the even digits are arranged in descending order and then all
the odd digits are arranged in descending order, which digit will be in the seventh position from the
right?

9783724563 &3 {003,0566 , DL DO 7009,35&0&&35 0958 5306 0065 0N &8 SO B DoV

ST 306" BB DDSBOM S VogeS® G DG 08 Dcsd .gvssoes*‘ &o& @908 DB?

(D) O

)
NN AP OO NN

Question No.18 1.00

In a certain code language, if CHILD is coded as 389124, then how is LUCKY coded in that
language?
0523 8& 230065°, CHILD e93& 389124 e & 300808, 098 23S’ LUCKY 936 der §&

B030LEIH0H?
(A) O 122131125

122131125

(B) O 122121125
122121125

(C) O 122141125
122141125

(D) O 122131124
122131124

Question No.19 1.00
28t February 2025 falls on which day of the week?
28 22398, 2025 ar60eS° O Fard H00b?

(A) O Thursday
DTG0

(B) O Saturday
3T G0

(C) O Wednesday
AV aTe lele)

(D) O Friday
BogaoeGo

Question No.20 1.00

Which of the following years is a Leap Year?
800 TBS" B2 DodB G0 DB?

(A) O 546
546
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1/17/2020 Civil
(B) O 545

545
(C) O 547

547

(D) O 548
548

Question No.21

A shopkeeper earns a profit of 20% by selling an article at Rs.558. Find the cost price of the
article(in Rs).
28 DY Rs. 558 £ ey, 28 cosees oo 20% erglo FoOTPELD. €9 DD £ &6 do&

E20F%0& (Rs.0).
(A) O 465
465
(B) O 463
463
() O 469
469
(D) O 467
467

1.00

Question No.22

A Train travels at a speed of 54 kmph and crosses a signal in 61 seconds. Find the length of the
train(in metres).

54 kmph S0 Hc0R0) 8 Tew 2.8 D) Sa 61 2EHS” IS8, & Few TP SFdod
(oeoges’).
(A) O 915
915
(B) O 925
925
() O 945
945
(D) O 935
935

1.00

Question No.23

Find the next number in the series.
27,28.5, 31, 34.5, 39, ?
335 307D RoaR0 SO0,

27,28.5,31, 34.5, 39, ?
(A) O 455
455
B) O 43
43
() O 45
45

(D) O 44.5
44.5

1.00

Question No.24

47 typists can type 47 lines in 47 minutes. How many typists are needed to type 94 lines in 94
minutes?
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47 2000 SR 47 GH0 47 DTS’ §S Bodrd. 94 Had 94 ATres” BO Skt
oS08 GV VBVBLDTE?
(A) O 47
47
(B) O 49
49
(C)O 43
43
(D) O 45
45

Question No.25 1.00

A boy is standing in a lawn facing South-West direction. If the boy turns 65 degrees in clockwise
direction and 155 degrees in anti-clockwise direction, which direction will he face now?

28 erenEd DDYES” PO BFL DRV YD &T°) 6. &3 PR V] B3S° 65 Ghen 30H
05O3S” 155 Afen AONB, S QYYD D OB BDANPDL ot

(A) O South-West
DA

(B) O North-East
ST 0

(C) O South-East
et oo

(D) O North-West
J’Oii).)béo

Question No.26 1.00

Choose the alternative which is an odd word/number/letter pair out of the given alternatives.
QDN ao:i)!)sw Qo0& 0D DESB/Dog/eLTre 2820 S &Y a&bs"b‘l o€ od.

(A) O Perpendicular
Perpendicular

(B) O Vertical
Vertical

(C) O Circular
Circular
(D) O Straight
Straight

Question No.27 1.00

If 41% of A = 61% of 41, what is the value of A?
A S 41% = 41 &S° 61% e9003 A Densd doch?

(A) O 65
65
B) O 63
63
(C)O 61
61
(D) O 59
59
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Question No.28 1.00

A is twice efficient than B, who can finish the work in 76 days. How many days are required by A
alone to complete the entire work(in days)?

28 DA 76 Beres® 2378 Bosorie B Soe3 A Socd B 96 0G0 SOTD. Joogo DI A )&

3BT A Faren w106HDHO(Ferg’)?
(A) O 42
42
B) O 38
38
(c)O 36
36
(D) O 40
40

Question No.29 1.00

77+17x13/(884+4)
77+17x13/(884+4)
(A) O 76

76
B) O 78

78
C)O 72

72
D) O 74

74

?
?

Question No.30 1.00

A fruit seller had some oranges. He sells 75% of oranges and still had 250 oranges. How many
oranges he initially had?

28 Dogs DGO DG E) TPBoRDOE) &) 0. OIS WS 75% DO VYD ST(S LXTe VSIS
@os° 250 Jrdozs0g WNDET™) AN, WBIDE AL &) T80 ) ?
(A) O 1200

1200

(8) O 1000
1000

() O 600
600

(D) O 800
800

Question No.31 1.00

Find the value of (a%-b%), given that (a2+b?) = 74, (a-b) = 2 and (a+b) = 12.
(a2+b?) = 74, (a-b) = 2 208050 (a+b) = 12 wand, (a%-b?) Dewdo T DA
(A) O 1774

1774

(B) O 1772
1772

() O 1776
1776

(D) O 1770
1770
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Question No.32

If 40% of 'X' is more than 20% of 855 by 311, find the value of 'X'.
855 ¢5° 20% o3 ‘X'¢S° 40% g, Dewd 311 LI €08, X' Dewdad SX0FDod.

(A) O 1205
1205

B) O 1215
1215

(€)O 1225
1225

(D) O 1235
1235

1.00

Question No.33

Replace the question mark with an option that follows the same logic applied in the first pair
Necessity : Essential :: Exigent : ??
200t 23S° HPoid B0) TV VD D Eo& HT) ¢S FIV) Wyrdossod

Necessity: Essential :: Exigent : ??
(A) O Unimportant
Unimportant
(B) O Urgent
Urgent
(C) O Submissive
Submissive
(D) O Optional
Optional

1.00

Question No.34

Find the next number in the series.
15,17, 37, 115, ?
335 307D Do SO0,
15,17, 37, 115, ?
(A) O 478
478
(B) O 497
497
(C) O 465
465

(D) O 454
454

1.00

Question No.35

The average of 18 consecutive numbers is 27. Find the sum of 18 numbers.
18 DR Dogyge Wriew 27 T Rd(IGR. &8 18 Dogdgw dgrd) Sl dod..

(A) O 486
486
(B) O 488
488
(C) O 492
492
(D) O 490
490

1.00
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SECTION 4 - DOMAIN - CIVIL ENGINEERING

Question No.1 1.00

The characteristic strength of M30 concrete at the age of 28 days
28 Barer H03%0 5 M30 5P08¢5 qivg), S*[OL0RE [0S (LEET0? 5yEso)

(A) O 30 N/mm2
30 N/mm?
B) O 25 N/mm

2
2
(C) O 20 N/mm2

20 N/mm?2
(D) O 10 N/mm?
10 N/mm?

Question No.2 1.00

Godown wiring uses to operate lamps or loads in a
BT oA’ Hren Foe S°Een -----&° Dogrdo Babeciaron

(A) O Sequential manner
g0 gAS’

(B) O Perpendicular manner
©08) :chééﬁ (28yod g6 BegD6)

(C) O Parallel manner
RAPoSS DEAS”

(D) O Cross manner
Ll ::gaes‘ (520 2u°g6)

Question No.3 1.00

An alidade is used in plane table surveying for
28 DS Banes HBLE0HES” 28 dEED FELH &DBTAFD

(A) O Measuring angles
e odmedd

(B) O Drawing lines
I Hobaeds

(C) O Levlling
Sd0ohH

(D) O Centring
Dogoh

Question No.4 1.00

In a single-phase wire system, how many wires are there?
28 2oNS-DE D6 DRS", V) PG> Eotron?

A) O 3

B)O 6

(C)O 2
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2

(D)O 4
4

Question No.5

The ratio of the volume of voids to the volume of solids is called
TGy AB0E), 0RDDBATETIS FDEy L), LOVDBICEPS 655 DB P DROFW

(A) O Porosity
ESESIN

(B) O Void ratio
TPan& B1a3r(Sroé dind)

(C) O Bulk density
B80S o (25), &)

(D) O Dry density
TG oG (& BNE)
) &

1.00

Question No.6

The field compaction test shall be carried out by
D SoFED B[ BB DO

(A) O Casagrande apparatus
S0l OFPYBOR

(B) O Le chatelier apparatus
DA Yanb e oD

(C) O Sand Pouring Cylinder
o0& J*80h BDo&d

(D) O Proctor compaction Mould
TEE o8NS H°S

1.00

Question No.7

Lintel is a
9ot3e5 9IS 28

(A) O Short beam
TY d

(B) O Long beam
e D

(C) O Long column
i) SPOD

(D) O Short column
T o

1.00

Question No.8

Load divided by area is
DTVHOD PACBE LTT°D) QT® DRVFWD

(A) O Stress

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Civil.html
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RO IALITY (:85)

(B) O Youngs Modulus
adoh deago

(C) O Strain
POINY) (?80&35)

(D) O Density
Jrogses

Question No.9

The standard recommended water consumption in India, per capita per day is
2PE3B3065° 2w Fard DI BODLGD AT B0 A IIWB o

(A) O 80 litres
80 dexed

(B) O 150 litres
150 dexgd

(C) O 100 litres
100 deagd>

(D) O 135 litres
135 deog

1.00

Question No.10

A surveying equipment having combination of Electromagnetic Distance Measuring Instrument
and electronic theodolite is

aogwalesé (Z)csoscsowbboé) GRNN 2o2300A OSSO HOCKN JVFTAS HATrETEL oFoH O
&0l 2.8 2B(a0A DGO

(A) O GPS
GPS

(B) O Total station
s Had
(5]
(C) O Tilting level
B50h TS

(D) O Electronic theodolite
JUIE OATESE

1.00

Question No.11

If the direction and magnitude of velocity at all points are equal, then the flow is
292)')_ DotHo 33%5 DHEOF B0 DOIATETLL DA 9ANA, HIT°ET0 L €080007

(A) O Three dimensional flow
BSaDH Piro (Y GG ')

(B) O One dimensional flow
g BaH PILro (SD EHHES )

(C) O Reverse flow
DS Pariro (056 )

(D) O Two dimensional flow

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Civil.html
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AL PTET0 (0 E0HIS )

Question No.12

In case of open channels, uniform flow is characterised by
LS ISy D00065°, 20 PTEFIS ol &0

(A) O A varying slope of channel bottom
TP e9¢d 2o WE(AP8) Trensd £OA eotwod

(B) O Varying depth of flow
208 6 DRI S B0 £OA Gotwod

(C) O A constant depth of flow
28 QB P B $A Gotod

(D) O A constant slope of channel bottom
TIPS ) erio 9‘86 TP £9A &otwod

1.00

Question No.13

Which orientation faces much of solar radiation?
9 £,00300E0(D B300) JEYD A6 DIGEP) I 0t0d?

(A) O Western
‘é.)'?l)&‘).)

(B) O Northern
&80

(C) O Eastern
e‘.‘éJ"d)b

(D) O Southern
B4

1.00

Question No.14

The valve which is used to control the flow of water in the distribution system at street corners is
DB PR HE DO VEPT> DIIVS™D DY PIF) DADGoSTeAS EDAPNoD T

(A) O Safety valve
2 &g

(B) O Scour valve
)6 eS¢

(C) O Sluice valve

Qrond a‘eﬁs
™

(D) O Check valve
38 °SQ

1.00

Question No.15

Point of contraflexure is a point where
Fra0ES 9D SToErRENE DG & B8R0 Do

(A) O Bending moment is zero
Bocof 2rD00dS (HE gradvso) o)

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Civil.html
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(B) O Bending moment is maximum
Bocof 0PR00tl (D8 grauso) (B0

(C) O Shear force is zero
DAFeID 00(2006 T'6y) o)

(D) O Shear force is maximum
DTS o200 @65‘3) (10330

Question No.16 1.00

An important component of a building providing access to different floors and roof of the building is
IS 5.‘?5&)5.) S00030 B ‘Qé%@“édéo £®AoTS D0 03.1)52) 8 é.na)zs@é &rio

(A) O Lintel
o35

(B) O Beam
EARY)

(C) O stair
?30»6 (Roew)

(D) O Column
SPOD

Question No.17 1.00

Tools and processes to maintain safety and reduce hazards associated with fires are
BEB DBETRT B00LOE 20800 EOA Gol RIATT O BHoIEAS DN DAXEY odasw

VSOOI R DLOIE

(A) O Fire loss
©f) PIE Qo (6 D)

(B) O Fire calculation
26 983356;’;5

(C) O Fire protection
6 LS

(D) O Fire assessment
26 B0t

Question No.18 1.00

The operation of levelling across any river is termed as
QB 36 TIDoh B PO L DLW

(A) O Fly levlling
2 G290k

(B) O Profile levelling
TS Sddoh

(C) O Reciprocal levelling
B2 ES TDdoh

(D) O Compound levelling
goro& Tddoh
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Question No.19

The anti termite treatment done post construction is a
o7 830 PG ST 0irotd LTYES B2V 0D

(A) O Maintenance treatment
202008330y BSE200E

(B) O Less expensive treatment
SBE) D DIOOE LPGD G500t

(C) O Waste treatment
3% Be53008

(D) O Temporary treatment
o) D8 52008

1.00

Question No.20

Boch T WOBET”) LD 2D0hHL c“o;%&%?séo
(A) O Raft

[32%)
e

(B) O Combined footing
SOQ‘FS DBoh

() O Pile

S

(D) O Column
SPOD

The combination of two or more footings joined together is

1.00

Question No.21

(A) O Shape factor
RREES

(B) O Slenderness ratio
20635 B

(C) O Aspect ratio
053"7035) Bacdoe

(D) O Buckling length
e280f T

The ratio of effective length to the corresponding radius of gyration of the section is
RES DY) IDED ToHEL OO Woe0BS BEODR 8D FEAD(DIFY To§IGo)d 206 D

1.00

Question No.22

The construction equipment used to do a cut and fill is
&¢5 0803 & BOTEIS DA 208 Z)ovéss 00880

(A) O Crane
85

(8) O Bulldozer
e.neé°aa5

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Civil.html
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(C) O Tipper
63‘;)36

(D) O Excavator
288506

Question No.23

Bent-up bars are also used to take care of
B0t @D 78y AITEL ST GO AoeEran

(A) O Torsion in slabs
Fewos® &rgd

(B) O Shear in the beams
DoneS* RoHE (DArerd0)

(C) O Axial Compression
3,05 DoDEH0(CITHODES Eoad)

(D) O Factor of safety
.,3"555 225 53
[3] [5)

1.00

Question No.24

River training works are required near the weir site in order to
QoCEEL 656 Gaoh DD Dand RES(Weir site) £ DA Bosrd et

(A) O Ensure a smooth and axial flow of water
D&Y DerPD SOOI BLoH YO0 Goder Brkerds

(B) O Stop the flow of water
DB QOB DTS

(C) O Divert the flow of water
DB I B0VyoSEDS

(D) O Increase the speed of flow
DT DA DoTeIS

1.00

Question No.25

Unplasticized PVC (UPVC) or rigid pipes are used for
I3RS PVC (UPVC) So 826 pipodn FEL &DBTAFS

(A) O Hot water
DA D

(B) O Treated water
ABE e (308 Saberdsd D)

(C) O Cold water
S0 DD

(D) O Waste water
558 N (DY °e6)

1.00

Question No.26

The solvents or thinners for oil paint is

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Civil.html
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€500085 DOOYED FTo(BI°0) St B E GDAFHDES

(A) O Bitumen
DT

(B) O Wax
00

(C) O Turpentine
&33095

(D) O Water
D>

Civil

Question No.27

Water closets are connected through
T8 §Be0 DB T DogrRdo Babercsran

(A) O Elbow
Sy

(B) O Bottle trap
TS &5

(C) O Bends
Bo&en

(D) O PorStrap
P do S &rd

1.00

Question No.28

A cross staff is used for
08 TR PO A L &DABPAFD

(A) O Setting a line at an angle to a survey line
R0 GO 2.8 E'ra0 5 2.8 GO 5 BoredS

(B) O Setting perpendicular lines to a survey line
28 DB TIH 482 Vo TPV JE SoberdS

(C) O Alignment of a survey line
208 DB O aws); 9T 085

(D) O Marking a survey station
2,8 roésfga.Séo moboﬁ BoES

1.00

Question No.29

The constant vertical distance between two adjacent contour lines is called
Both VYV &) Sotwrd T G &0l DY BFT) R DOFE

(A) O Vertical equivalent
S0SES ST TolS

(B) O Centring
ook

(C) O Horizontal equivalent
5P00tdSs B3S(T S0

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Civil.html
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(D) O Contour interval
SotarS @otd3(S

Question No.30

The pH value of neutral water is
SR 200 A, PH Jewsd

(A) O 10
10

O s NN

1.00

Question No.31

Threaded pipe joints are mainly used for
A& D 2raotw HEPdT JBES” GHTAF D

(A) O UPVC pipe
UPVC 5

() O PVC pipe
PVC 2%

(C) O Gl Pipe
Gl o5

(D) O Steel pipe
SGRSH

1.00

Question No.32

Laser plummet in total-station is used for
S OS-[00 S° Fab H0) 5 B FEH &DAEPAFSH

(A) O Bisection of a point sighted
EIDROR) Froots(Sronots PEBE) RN BRLES(APOCED)

(B) O Centring
ook

(C) O Orientation
£,0C008300

(D) O Levelling
SdOoh

1.00

Question No.33

The General dimensioning unit is
e DA PO°0 (2065 EBORVoh cPIS)|:

(A) O cm
cm

(B) O mm

mm

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Civil.html
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©)O m

m
(D) O km

km

Question No.34 1.00

A System in an electrical network, which works as a safety measure to protect human life as well
as equipment is
BPDD FEPD) LOCKD DOST™) TPE 28 RCES o3IV DIBD 28 JVFE DE5HE)S°D o

(A) O House wiring
9 POk

(B) O Earthing
>80h

(C) O Plug
f

(D) O Master control
26 SoS'S

Question No.35 1.00

The fitting shown in the image is
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8290065° BPDocIIED DEYoH

(A) O Cl Tee
clé

(B) O CPVC Tee
CPVC &

(C) O Gl Tee
Gl &

(D) O UPVC Tee
UPVC &

Question No.36 1.00

In India, the net quantity of sewage produced is generally taken as
O3B 30S", PTTBraom DEdSLAD] DDE(JNEMHAL) dRwg), DG HOJPL0

(A) O 60 to 70% of water supplied
DEHT> Boecd DS’ 60 Koo 70%

(B) O 100% of water supplied
26T Baberdd DS’ 100%

(C) O 75 to 80% of water supplied
DEDHo° Sabadd JBS” 75 &od 80%

(D) O 50% of water supplied
DEHT> Soeadd DS’ 50%

Question No.37 1.00

Accurate and common method of measuring the distance is
Groed) EOB SDVIDOD LO0% FErdes Derdo
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(A) O Contouring
ISISTAS YY)

(B) O Plane Tabling
5 6590k

(C) O Levelling
S20oh

(D) O Chaining
Bo0Doh

Question No.38 1.00

The length of the road visible ahead to the driver at any instance is
D R05By0 HE WOT® EHOL B B0tk DD T FE:

(A) O Camber
s°5oa.>5

(B) O Shoulder
Aeod
[~
(C) O Stopping distance
0h &7053
(5] (5]

(D) O Sight distance

Question No.39 1.00

The size of modular bricks is
doredgod Q8o HOJIrE0

(A) O 200 x 100x 75 mm
200 x 100x 75 mm

(B) O 230 x 100 x 100 mm
230 x 100 x 100 mm

(C) O 200 x100x100 mm
200 x100x100 mm

(D) O 230x115x 75 mm
230 x 115 x 75 mm

Question No.40 1.00

The construction using blocks of stones that are either undressed or roughly dressed is
E0y0h BADBED(BIER) ST ABLTT GOoh BSOS (659 &Q) gﬂ%b ABoog); 5B Jos

&H03rA0R) 3:3&3;3 .‘Omésso

(A) O Rubble Masonry
Senes DD

(B) O Chamfered masonry
C,J"oé)é 2096

(C) O Quarry faced masonry
svsé an.) N8

(D) O Ashlar Masonry
6 o006

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Civil.html
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Question No.41

The minimum number of bars to be provided in a circular column is
208 HTSE SRS IT°ENBODLTDYD &Gy G0 SR oy

A) O
B) O

S}
WwWw oo A NN

1.00

Question No.42

For any construction project, the indirect cost
Q o0 FELTT DY HyoHo

(A) O increases with duration
SO HHAE DOHB0S

(B) O has no impact with duration
50 HHOE Herdo €N eoticd

(C) O decreases with duration
50 HHOS StHses

(D) O are not included in the total cost
0G0 HOD0eS” BB\ ot

1.00

Question No.43

The instrument used to protect the circuit from the electrical leakage is
dogs O3 2wodt R8I, 0030 SIS SDDRA0I DO

(A) O Earth leakage circuit breaker
& 988 Rociom), 65 856

B) O Plug
06

(C) O Fuse
Eepuc

(D) O Bus bar
20 &b

1.00

Question No.44

The characteristic strength of M20 concrete at the age of 28 days is
28 Bero Hakw 3¢ M20 50085 aaog), S°BE0R8 Rof (VEEPo? @yso)

2

30 N/mm?2

(C) O 25 N/mm?
25 N/mm?2

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Civil.html
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(D) O 10 N/mm?
10 N/mm?

Question No.45 1.00

The detailed actual estimates are mainly prepared for
CB30008 AIrEINIS DRI DDCETSY S T WOLST®)ed PTJorT AIT 6L ?ogo WodeaciEran

(A) O Execution process
e EAD (APErERD FID)
(B) O Registration process
B250® B3a®
(C) O Valuation process
w8)5scea V8D (TrengaDHS FRD)

(D) O Planning process
OIS DI Dok D)

Question No.46 1.00

As per Indian standards, the minimum number of main bars for a square column is
2PEA0H DRATETL NS°G0 208 BEEEY TV ST oS e &% SCES]Y

) O
(D) O

0O NN OO &b

Question No.47 1.00

Excess load or overloading may cause
VBN S°E Tor L5FCoh HIS TrodHBN:

(A) O Corrosion of reinforcement
8a9Y°E 2005 3E), SBRS (1B Loko)

(B) O Deterioration
faTalolebtiTe OIS

(C) O Structural failure
Qo7 D0

(D) O Structural safety
Qm&m 23¢3%

Question No.48 1.00

English bond is used in
2082 er0&ORD ROEOS” GHATAFED

(A) O Stone Masonry
S 2006

(B) O Steel works
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5,
‘86 35253

(C) O Concrete works
S ‘;5563

(D) O Brick Masonry
D8 Boxb

Question No.49

waste materials to pass through is

28 Do v DY) aﬁrgo
(A) O Trap

LD

(B) O Bend
&o&

(C) O Tee
&

(D) O Elbow
26°

A bending pipe path to retain fluid to prevent sewer gases from entering buildings while allowing

bsg T.’.)w"g"w 203085 b'.?aa":)é IVVBYTD 2550065°DS BB TOIVDED VDo JDDDD

1.00

Question No.50

The presence of hygroscopic or gravitational moisture on the walls is
Feep 3rER 28 Sor thoagpoud d(Gravitational moisture) esociero 6!

(A) O Anti termite
3ol &35

(B) O Dampness
GRHoDID (B0

(C) O Scaling
fozj@oﬁ

(D) O Leaking
930k

1.00

Question No.51

The recommended cement mortar mix for inner wall plastering is
&0 Feter FR00H EGL D1y Boserds D2vots Argrd Moo

(A) O
B) O
) O
(D) O

—_— -— —_— —_—
ER oo NN ww

1.00

Question No.52
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The admixtures for concrete, which are added to reduce the water content is
A8 Tr) FofostedS gendeads &SI

(A) O Superplasticizer
RArD6 Fapesd

(B) O Epoxy
RN

(€) O Fly ash
2 oG

(D) O Aggregate
03¢5

Question No.53 1.00

The objective of water supply system is to provide
A oBo3ER0 A DEHT® H{BH CI0E), VL o

(A) O Safe water in random supply
Dy REPTES” BES D>

(B) O Safe water in adequate quantity
BAD DB’ LS DB

(C) O Raw water in random supply
dgey DEHTS’ A& (3ogiSoerd) Do

(D) O Raw water in adequate quantity
HAD HOBTEI0S” (30gBaHed) D

Question No.54 1.00

The moment of inertia of a rectangular section of breadth 'b' and depth d, with respect to X axis is
X g0 Do deteny b’ odasw S0 d o 69:5&6@"5"6 0oci0 AIE); 2SS Gravso

A) O bdde
bd3/6
(B) O pd312
bd3/12
C©) O dgbde
db3/6
(D) O dp3/12
db3/12

Question No.55 1.00

H Piles are

(A) O RC piles
(B) O Timber Piles
oerd :.263

(C) O steel Piles
5 3.)@53
O 2

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Civil.html
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(D) O Under reamed piles
woci6 650 pSy

Question No.56

DO B Swo ot PO R DeVF D

(A) O Ground floor
Fol& 6

(B) O First floor
206 P°6

(C) O Mesanine floor
I P°6

(D) O Top floor
D 96

The floors directly resting on the ground surface are known as

1.00

Question No.57

The factor of safety for field weld is
DS DS F6L F 86 4d By

(A) O 2
2

B) O 1
(©)
D

1
O 1.
1.
(D) O 1.
1.

NN o1O

5
5

1.00

Question No.58

The earliest time by which the activity can be completed is
2.8 sbélgb.uéo Eo) Jetntevlelole s«i’);e.} ESPeblovtlel

(A) O Early finish time
A8 DID B

(B) O Late finish time
S G B

(C) O Early start time
5 7§05

(D) O Total float
€565 S

1.00

Question No.59

Operation Theater Luminaires use
DTS ACHOE LI DB EDAPAFN?

(B) O Sodium lamps to give yellow lights

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Civil.html

(A) O Halogen lamps with proper filters to give cold bluish white light
£S wrand D8 G ADEIS 80D DYD EINPoE rS'ad Sd-ew

1.00
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DAY Gord 2B AVETEY D& aso AP

(C) O Nian lamps
QoS Haren

(D) O Fluorescent lamps to give white light
BY 508D RIS TT0t5 ddredo

Question No.60 1.00

As per IS 456:2000, the factor of safety for concrete in the limit state method of design is
IS 456:2000 ¥5°60, &BS dB0g), DS R Der0es® SP0ges cing), F(E6 D DY

.15
15

1
1
2
2
1
1
1
1

5
S5

Question No.61 1.00
The three hinged arch is generally hinged at supports and at
8 2r0g esby Ferdrao roa‘fgb(emvcvw) 200050 D DG 30 BaDercdrod

(A) O One fourth from the left support
Dk es5rBo ool 9O PG 1¢

(B) O One fourth from the right support
DG e5rdo Aol 5 6 H¢

(C) O The crown
5

(D) O One third from the left support
DD e3TPE0 oG DD ag ssgs

Question No.62 1.00

A professional service that uses specialized, project management techniques to oversee the
planning, design, and construction of a project, from its beginning to its end, is

& 860850 Aol BVAORY DO w8 P L), F*oh, GBS BOK JTEP) DEFDE0wTeS IS,
B Iradrd) ATV GDEPAY w8 T0S VERL
(A) O Supervision

(SURIUCAS

(B) O Planning
2*Joh

(C) O Design
&85

(D) O Construction Management
“Oo‘éea SR

Question No.63 1.00
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The Structures can be analysed by using the basic equilibrium equations are called
A a)mw?gé DAESETD(E308 ©:3¢ODoB0 SBARY) E0AITAoL) JFocsedciidF Dom rron qer

DS

(A) O Statically interminate
O 200,38

(B) O Externally Indeterminate
‘Débeod‘l@ QLB D

(C) O Internally indeterminate
fpoeod‘lg,) QLB D

(D) O statically determinate
FOEY d08 38

Question No.64

In the limit state method of design, the maximum area of tensile reinforcement of beams shall not
exceed
A8 g DK P IeroesS” HDVy g, SRS 62DV G100t (SH5T° 3DHG Do) AL, (105

27050 AAD QoIS
(A) O 0.15bD

0.15bD

(B) O 0.4bD
0.4bD

(C) O 0.04bD
0.04 bD
(D)O 4bD
4 bD

1.00

Question No.65

Initial setting time of ordinary portland cement is
JeSed f)ige)"o& Do aBoog); F602s l)egoﬁ 20000

(A) O 10 minutes
10 doaren

(B) O 10 hours
10 Hotoen

(C) O 3hours
3 tfotoen

(D) O 30 minutes
30 doren

1.00

Question No.66

The sand used in construction is
«30‘&830&56 SeE Qg

(A) O Foundry sand
Do R

(B) O Seasand
2BE0G BR0E

(C) O Pit sand
https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Civil.html

1.00
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2085 QLY

(D) O River sand
856 @iy

Question No.67

O PGS VS D) E6 BEHW

(A) O Sliding door
&k &6

(B) O Swing door
250h &6

(C) O Flush Door
P2 &8

(D) O Teak door
8 &6

The type of door which are increasingly popular is

1.00

Question No.68

O S0 SOOI H0JY & £9A &0l (3“6@205

(A) O Bamboo scaffolding
e0en(Ded) I ohs

(B) O Steel scaffolding
EYS) 5‘6,@2’)05
e G

(C) O Aluminium scaffolding
iAo F T Qoh

(D) O Wooden scaffolding
DES(Eans) F,0h

The scaffolding which has high strength and durability is

1.00

Question No.69

FTOR 5B B YA AE?

(A) O Shoring
ABoh

(B) O Excavation
55305

(C) O Setting out
28306 wHE

(D) O Sub structure
285 };\39‘)5

The process of developing the physical positions of corners and walls of a building, and it's done
by transferring dimensions from the layout plan to the ground, is called
Fodon & s JO od §gg°wé 208 B g00¢5°, 28 B0 Tog), Burerd ook Fee a8

1.00

Question No.70

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Civil.html

1.00
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The pore water pressure is also called neutral stress because it does not resist any
D6 Toe0b 26 VDGR 0 0T RBIE e D RS V(0% HBwewo) ¥

1T DO

(A) O Compressive stress
0D DAV

(B) O Shear stress
AATLS HAwo

(C) O Tensile stress
S5 B0

(D) O Torsional stress
Erg0S Ao

Question No.71 1.00

Steam which has been a universal source for traction in railways in the past, is now being
replaced by
(i9085" FEOES” Ered ECLD 28 JEBE 2L 60) 8D FD0e5 ARV B EDAPART) 67?

(A) O Petrol
DS

(B) O Liquified petroleum gas (LPG)
93(DE E5"Dao My (LPG)

(C) O Bio Gas
eao33°n°5fo

(D) O Diesel and Electric
GRS 28k DS

Question No.72 1.00

The primary air pollutant, which is formed due to incomplete combustion of organic matter is
€6 DEGo BN, WRORPY BEP0 S0 DG HEO MO enhido

(A) O Sulphur dioxide
}’02)‘35 Cioi)"g)&

(B) O Hydrogen sulphide
TE2D DGYE

(C) O Carbon dioxide
S°C$a5 dwgb&

(D) O Carbon monoxide
5PN ArTEE

Question No.73 1.00

Knots cause
To5(2008 e &S seERIHTEON

(A) O Loss of strength
BG83 Do (2D &d Jod)

(B) O Gain of strength
@GS D)8 (Ao 8D Pod)

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Civil.html 41/42



1117/2020 Civil
(C) O Continuation of fibres
Soh0D)en esi)xi’)‘)é&orw IS eV

(D) O No impact on strength
[SNALUNCFS RN £9A &okd

Question No.74

In a prismatic compass, the zero is marked on the
28 92O oD, o) BIP Motsed Eotod

(A) O Eastend
& o0& (Sr6oy D50)

(B) O South end
AS do& (&0 DBS)

(C) O West end
D Dok (DIy00 DHV)

(D) O North end
T8 Dok (&B6o VDY)

1.00

Question No.75

An instrument which is used to measure the horizontal angle and vertical angle, is
502rotreS Ery O0KH HPEES Errdy) EuIEDS &DATHoS DOEC0

(A) O Chain
BOOD

(B) O Compass
oD

(C) O Theodolite
BBrESS

(D) O Level
3713

1.00
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